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Example Candidate Responses — Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) / O Level
History, and to show how different levels of candidates’ performance (high, middle and low) relate to the syllabus
requirements. This document helps teachers to assess the standards required to achieve marks beyond the guidance
of the mark scheme.

In this booklet, candidate responses have been chosen from the June 2024 exam series to exemplify a range of
answers.

For each question, the response is annotated with examiner comments about where and why marks were awarded or
omitted. This is followed by comments on how the answer could be improved. There is also a list of common mistakes
and guidance for candidates.

Please refer to the June 2024 Examiner Report for further details and guidance.

Note: The questions for these example candidate responses were taken from 0470 Paper 21, June 2024 which differ
to the 0977/2147 June 2024 questions. However, the question format and skills are the same.

The questions and mark schemes are available on the School Support Hub

0470 June 2024 Question Paper 21

0470 June 2024 Mark Scheme 21

Past exam resources and other teaching and learning resources are available on the School Support Hub



http://www.cambridgeinternational.org/support
http://www.cambridgeinternational.org/support

Example Candidate Responses — Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- or low level response for
each question. In the left-hand column are the candidate responses, and in the right-hand column are the examiner
comments.

Example Candidate Response — high Examiner comments

_'_Sszv._‘nz_c_A_Md_&_.aﬁxu._._vuuj,_!.'(-He_-;...,édnéic.f.@af& fsmu;_.cmmaﬁmmanﬁ_w%#uaa!: G The candidate immediately

1" ocsasgapernt cmwsnage ol Moo plincf Ho_sisasson—, tbuy_chs o ta_ostronec. o identifies a valid agreement —

o s aimemned far o o o that the plan was covered in the
__&’HBLL_g_ulH-!m‘_M&L__{!ﬂS\_'a}h.L’I ...:&LS__H __US_ows__ dedniwentod, __.a:ul-a-..w-u&-c_zg.__ newspapers. This places the

] ;c‘mé}_cﬁs:meﬂaw_,{m_{ew_&é‘an_am{ma.,_éav{ng__\!amn_wi’a_ae&a;a?&{_?&maf_aﬂd_ answer in Level 2.
10 L&a_pt\oks.l'.‘._Oh-.{aa___co u&nwu.}_.,__so uﬁu_A_oéUms_.ﬂa._—fm st_ain =3 aid_hab;_e

bt ouney—Coskre s i Daing R ik

o The candidate explains

a valid disagreement — the
sources disagree over the
__._Mmo._.souhcas_qﬁm;ds%‘ouw&ﬂ__;w_&aﬂcd;ﬂ&_sdmd_amﬂmh@_ ence | effectiveness of the air raid. The

| Aot _comeeBlect b oL “Us_mieBeensod: ",k S B_olliws Hemety hed__| | ANSWET reaches Level 3.

,«.___fanu.uM..m:duc&u_-lometaaﬁn%__gam..:fald_..mo...?/)ﬂ"aa“_}z&@.._,/mJ!:qu‘. _:Sovacis. aleo ..e_ o The candidate correctl y
| Aose_slobisbeat olisogrensssts, soune B_tiking 67 deakhscmel-spunce A sibing awn_c. states the disagreement over

Responses are written by real candidates in
exam conditions, demonstrating the types of answers
for each level. These could be used to discuss and
analyse the answers with learners in the classroom to
improve their skills.

Examiner comments explain
where and why marks were —
awarded. These help to interpret
the standard of Cambridge
exams to help learners
refine their exam technique.

- J

How the candidate could improve their answer

* (a) To reach the top level of the mark scheme, the candidate needed to go beyond the details in the sources and
explain their overall messages. On the whole, Source A blames the CIA for the disaster of the invasion, while
Source B blames Kennedy. The candidate needed to make clear that these were the overall messages of the
sources and not just more disagreements of detail. This comparison should have been supported by evidence from
the sources.

¢ (b) There is little about this answer that could have been i
candidate did not lose time describing the cartoon but mo
sentence. This point of view was supported by reference
answer.

This section explains how the candidate
could improve each response. It helps learners to
improve their exam technique.

Common mistakes and guidance for candidates

+ Candidates often appeared to have started writing their answers before they knew what the answers were going to
be. Candidates would benefit by using some of the time to think carefully about each question and the sources and
to plan their answers. This would lead to more coherent and relevant answers.

* It was important for candidates to directly answer the g

historical events without directly addressing the questio This section lists common mistakes as well as
in the first sentence of their answer, for example: ‘The helpful guidance from the examiner. This will help
Source D is wrong because...”. To do this, candidates n your learners to avoid these mistakes. You can
writing. use this alongside the relevant Examiner Report to

guide your learners.
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Question 1

Example Candidate Response — high Examiner comments

O | Spunsier A oand o e M««rawwm/ém
SR PSRy = Wguw\ r2 Wlame am Briresn ﬁw e navad race.) a The candidate begins by stating
| MWW WW“ oW G QWWZ)) P ¥ how the sources disagree — Source

T A blames Britain for the naval race,
"""""""""""""" WW“‘Q et Croru while Source B blames Germany.
| veword® Pouanita ¢

| drere claion A
WWU.Q Wrmiévua, an. M copect fo%mpm
wal_Puvida e tor Beovnply yin. W Midatad o sstnned Pric,

PR )‘WWJ ound. Pravafin Sbe. laem- weeugak-2 e The candidate’s opening

e woeniel resg statement is supported by
* quotations, showing that Germany

poses no threat to Britain in Source
A but does in Source B. The answer
reaches Level 2.

4 e e The candidate reinforces their
_________________ \wo‘u“ ANEA A ka.m b *lq:eevr \«o'\&mmw . WLWM argument about Germany by using

e Yo msne U Cetincene o Mer beon o B min )w more quotations.
,M WOl QA‘C«UAM W "'ﬁﬂ/\* ‘2/&4- WWAQWIM wo

. tw_wm)\ &kMuA—aM (‘M/Wa% Corfass wa(—.,\l:éw”

0 The candidate explains several
agreements. The answer now has
agreements and a disagreement
and is in Level 3.

(Wm% dabis. %’Vlb{qm \pef/(u-ed/' rfu@vv e Olﬂw.m
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Example Candidate Response — high, continued Examiner comments

oo portiiding A o - a Cretwa,  unocion” g WWoreouwid, Vo,
aé@-u,evte/r ke é"w" {'M@«\—Ttkr)vw el A fewne evewmottd )
- {uoricta ave BAL (0 et s ) wiesumivay MW%

H&W MM"@ Wil fue Bt _pudelic a.\
lsean a4 sowne B T\ Brilemn HR et —Crenn \pudilaic .

| e . T (B ! el pracpaens Was Wv@ Bma,,,,\
%Mx‘- Creviecoey e The candidate clarifies their

y o answer and reinforces this by
) ek i§ 6 stating that Source A places the

= W‘?S” W M M : - blame with Britain, while Source B
Nk i e poo % IA squ‘vs Mb(&w«_ @,. justifies British actions and blames

MWWQ ro. o P }- widir ‘& N Q, ek Couaitts Germany. The candidate states that

ad v awwww/\ 2 e ag this is the overall message of both
6 sources. The candidate compares

sources and this places the answer

_ Mb gt qm h%h; in the top level of the mark scheme.

R S 2y W&&a& Ao «Q Mark for (a) = 7 out of 7

,WM in M W%ﬁd e Basviam - Yer v, )Ty #PC
‘ 5’%’ Wloappetns o foo eprtieean ”Qe @ The candidate’s answer begins

Nerlnin g 39"”’7"0{”)‘“’"’" with a valid agreement between
AL Cormiiug o Bade fae the two cartoons. Both cartoons
2 WM e -%%m Yee Buiristian a. | | suggest that the British navy

was powerful. This agreement is

) ! ol | supported with reference to content
ﬁ”‘”"‘“’“ {]99“6“""""' B S from both sources. This part of the
| comaeer, Crin | ANE oW{,l answer is in Level 4.

1500 Z-vw% W w&}mgﬂ Yo imencnced. Crenm
oapladuws to 1) ). el G odded (b omircir MW’QW
St Y evedadin. W‘QW ERTA ﬁwm»&um
o wmaMis bemn B wotha tue sTTOLCpu ANY 14 Tue Wadd .
| Mewerer, Votu socscer wppear to b Aqpee an fec

éq-“' [ MM& . | @ Hicizsor hae Briviat. "‘"“Ma o The candidate attempts to
ﬁ compare the points of view of the

|pener i pasricidat Weas, e C) apop W - cartoonists based on both criticising
he ewy Duwmbta Yrivan's W@/\CM{ Ve fue T’M Britain. This is not a plausible
interpretation of Source C. Given
the context of the late 1890s, it is
much more likely that the cartoonist
is praising the fact that Britain is
willing to spend large amounts
of money to defend itself. The
interpretation of Source D begins
well, but the reference to ‘the
criticism over Germany’s ownership
over the sea’ does not really fit here.
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Example Candidate Response — high, continued Examiner comments

lﬁ W QMQ an Seen jq e q;uw "tk ) A
Mﬂ Lo At mlz qu wower” \ww &&MAQ
—lofeneren Vo, {(v&a,hmwwwé RS s&:;m&ww, trree)
e CAA A MALVLR M , N PAL 2Lt { CAtnker
@ma,p,\ la‘.a lla@f’lCn fuawa« 417?,@0(( qolw—
Wr%uwjgwwm W“CWG«\ le&mQ e«/m«Q www%«()
Lo WW«MMM ﬁ&»ﬂa&m . f{}rwW,a.\ St
C‘W ro e i e bvd& rnad, Magania a f&%é
jea a d’areu— WMMVQ"U o Prind V“‘M"C’ , over hue
,@Jfa/umw)wwmw %M UMM an s
Tne 4. \)W la.00, _adet. Faa V()‘!AIQ\/AJ»R Uad
Wuw%'\ew/; (LW RS yw%wm an rewonel) l—zq_
"41"""”"‘“" Pulic \niva T, ‘“Wﬂ Wodna - ""‘2“""{} me 0 The candidate uses a similar

,,(&wfceq. Y Burada Mew% M"Q peat.ipon. et padetic. line of argument — both sources
M%IMC mamwﬁﬁ M’f v by criticising Britain. It is very unlikely
. . that Source C was produced to

Al %3 A oo, encourage British people to oppose
el %MM '&Céwu )T SELR C ""‘““Q'S'“’“’a e sHe the naval expansion.
_— @ gon win=boa Suddu mave . Mark for (b) = 5 out of 8

| expasaden. Ma)gwr 132 A wlean MK&AWM Tiepitez... M

< A W l‘o@eva— A _a E W%M& Veecan. aéuh}am’%
e[St B gtk O a@.upca— Oxemnnsanny_as fue Rgiriine |

,,,,,,,,,,,,, o WMM%wW po_ Clrizor.. wikt e Bt

Ver ruaeic veve ) and W v vt U oven dte e 0 The answer begins with
some valid sub-messages, such

as Germany was the aggressor.
Crucially, the candidate gives this
as a reason for sending the report.
The answer reaches Level 3.
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Example Candidate Response — high, continued Examiner comments

MM%MWM Fae  wkiliy abo Wéwéaua S
—pprera af peanisnd. Mm%
; wmew{u w200 fua

MCJXAW VE3 i el XLty
1Brviihn decesl vetared. fu&ﬁmﬂf&ra/

%M/F&M(,Q Selictig u{ WWM,MM Ww«ﬂw«c

M—MW b‘am &-arwtam It O alio. rmka

v»m&ww«w)MM—W&M %Qhwwé%;;w

%“Mhru&ea aﬂ a,uﬂ laerwd’u«l@ocw to. M
MW% @/rwz/;“ el OF ceufrm{jz m,&a‘m—w»u“
ﬂf%»QWW evaplearize

\s. af,eb\zf/rm LAt O @ {Aer Cdiv, VT

-2

i b e rrinevica . .

64% W&%@ara\ WM{_M

el (?/C@e& bty Luael ivon Piero te. A beerion, .
= WCI—WW-,M Oréwwqa

ber atio 11 (306, Fea

rvichdud

Wldm B’IIWVH WF Dt 12 "_,, J’H‘Jh v

WM{, Lo w0 Fen o et Ay~ Ui,

e

e in Aanor @Q tueBuiniudfonced agaivn tue Cretna,

Yo Aol ClonfledCes. }:owwwew progps Yoe Privi,

\OMo(A c

| Sewe Fumbler soucce O aippo fatece mea
o demu ostwee %Ww% Kaizes itvcut on wor,

lerha Al e O dimg pevicgs. . Hadirer g, ivnaenn

@

ﬁo{,«- ewaro(zd "’E}@

Ja he%‘ngt\ MC;M WWMW@MQ
%@(W \pmm(bxa&gq i witrea in S0 )

@ The candidate provides some
good context — the naval race, the
Algeciras Conference and Britain
launching the first dreadnought. At
this point, the answer is still in
Level 3.

m The candidate makes a sudden
leap to the purpose of the report
and states that this was to ‘boost
anti-German feelings in the British
public and promote the production
of more battleships’. The candidate
already provides a good context
and the answer moves to Level 6.

Mark for (c) = 8 out of 8

@ The answer starts well with

the candidate explaining the main
difference between the two sources.
Source F shows the ‘Kaiser intent
on war’ while Source G shows

that he wants peace with Britain.

It is important that the candidate
states that this means that Source
F makes Source G surprising. The
answer reaches Level 4.
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Example Candidate Response — high, continued Examiner comments

@ The candidate makes the
important point that both sources
come from the Kaiser.

A,w awmwwh %WMMMQO{B&W&

l(\mﬁ WAL ﬁwm;ﬂ%mwt-s»w i wLan&um.W
‘*ﬂ’(”d" W"'{} dopicn Kainvrs “ﬂ"@“‘”"" ted: ‘@‘W’@ @ The candidate gives a good

\ruwwmuw muw h»-L (Bl ridda MWW wfﬁa«v& q explanation of Source F.

(“AM’» ee(‘fdcwvy b MWW oAttt
|an. \\— A wv)mw.,y\ LA 0K, &C&AMVQMhMNMIMmM
(Bt o, OO qproniny Qiia 1ot Vom0, 82 Sean fin -
1900 sfur Bt veluonog e Drndia W@ 2322: Ao
W “Msisiou, Braeare (a O, which forised et TV’("LL Source F m);de absolute sense at
l:meq ownndl QWMYM &Wmcua axeuel 1A the time.

VVLMG.JG’
Eéﬁsw#:a _TA. W‘Q V'.Q MWWVQ!“ MM.Q %&\«;} |
|oserire G M%«W%/ﬂ@rm i
aﬂ MW, an. A % i adroquene &) dands
| vaenuviews: wJu. i (204, WMk Lre stasey. bt "Mw\l
Von vaqin " M}' wwou c&(u&Q L
Ny Syres ,f,!____(p,kpx('w e i viam Lilhe v ov o Aoy M»wp\utl
s it duss, el i Y2 , it o bs Haipr |
MC‘M &(’eaw Mhm% \aew W Mi&n»ceroamr(
WM, l(‘-wwwd lﬁc md e w‘?dlw»\m

. fee Aaco betn sl eommenes

\’Ew&m&( ,,; hv S T @ | @ The candidate directly
"""" o S matan 15 4 m o Y’w(’bﬂa)’ WW“Q‘M“ addresses the question.
,,,S@vvv(_;l:‘/" KﬁWj Pv\va,vc RNV oo e |

10
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Example Candidate Response — high, continued Examiner comments

Lo e A (w()a»w( {‘e—r,&«m POMM/MW%W
st Wi filioved. ) Flevain acd afcoax‘x NI N MPW m The candidate evaluates the

cr‘\,«@ww% ceed mu}&uﬁd wet Lof _Pesteare,d sources to argue that it is not

hotha Ll le ik &_ o bt surprising because Source F was
e prdstet § e - ﬁ private, but in Source G, the Kaiser

oo ewnietin- ’&WW\ oo Vit it penarin O | | bt 0 bermors diplomatic. This
e dAD 08 S0 £xp, lp At Ane pwoulel clroorz o be tatne raises the answer to Level 6.
,,,,, WM% At o @;@%mw fer Brariih g ledten. . Mark for (d) = 7 out of 8

R YV \ab»ww) an b weouked fe o W"’W Yidplasted]. ...

MT mb'lﬁymvv(a waa <y % W« ALt o
er v espatiie. %M erwwm ﬁ‘fz«wx Py W%%-tcl »»»»»»

M&A«»\Qm %ﬁ»g M (WWWWM
)WWQ |Wam) \”Q SOLenk [ AT d08Sndle

e
%W\rc CNR Sertan, OGN, LI p,é:—mm

@ The candidate gives an
excellent explanation of how
Sources A, C, D and G suggest that
Britain was to blame. There is a
good choice of quotations that are
well explained. The answer reaches

Al lateieia L85 | Level 3.

_...MNM «émm Ww{ mc&ﬂa— Wem_ vo ths s b, uw%{'h
______ h. ; ST Coedpe. Wwﬁa, ftda ido,
a«wcﬂaﬂmw\ [N WHAM Mua = w@»ww, y1¥ wal‘ww»

"\«\ (M@?«@WUL o ne c/b@emm We&&(\fwe
d/r«tﬂwcd w2 N o AorOheorie M%MMM%
ylava witd comr | poiictn Cleat,  dlepicet b Brirctdr

-

11
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Example Candidate Response — high, continued Examiner comments

,,,,,,,,, W;@M%’M oﬁ%)ﬂ&r—z Aueeem @n acreds
. d(’,f—orwu_d M e@pw&;ad Wm«a MMMQJru@ LIl
etuWA\p engrhor DA W'&w“ M% A a. ‘éu/%
| pean \\SWWlFMMMMAW‘%“ o beo .
W R S WA m,,e,z/, 1—4 J'w-;r P%m
- N%@nwmmwi*&w%% WW&G\
L ALLARAN M o W%CM ot Conmteree, wo- A Tteraia.
&wm%!s kuawmlﬁ !WM g vwwa,{ Y2ee g ancdd. vl%u\,
| Mtteaod Sein ot oy \anc G dan Prarish Jer 'WM’@
PR RV 2% T2 Cewwwmds NANGE LA, ar, o, CAL L1 At dp s
Hueie ueviy e " T @ @ The candidate turns to sources
o K"O‘W"M) Plinangy- 04 -Sericen- W"L%”"% that suggest Germany was to blame
W Wmﬂ ez Yatione e &M, et Woritoain A4 and carefully explains how Sources
p wa | ro Caen. B, E and F do this. The answer is
'zw%L A WWW r[([w&, o). now in Level 4.
We’\j‘.ﬁ{ P@u-d/v z\ M 8Mvum M - o&/M freccos ] Mark for (e) -9 out of 9
L M M Momyz\ tre %M‘Wad MW% ..... P(MLQ
~ ot ncan, oo fue. /5%’//1//‘7,& ‘W% }@M%
M\A@M‘tﬁﬂ Uiy - fdQ r\m er f,qarww,‘\ WAy Leolien. ko
--------- & e e A v Dok -2 b Lowgersue Yy gy
(WUJ(M lee-io W G lee s to e me
V%.w oL @R. ‘QC“"’% @ﬁr Y FU- ) lﬂdu/ox/(a/ ftetpa, |

12
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Example Candidate Response — high, continued Examiner comments

,,,,, !&cw a«mml st MWM uﬂ‘\xl&mhﬁwh .

Vﬂm m.‘m @ ”’*V"‘”’“ﬁ gﬂ@ow»\'ﬁ ﬂz@vom
- %Zdzm"% 2. VLH.@ L k. b@m 4@/ M%Mcv{ Y‘Q(e
Ovenotin A l"M—(.aAQ {ze. soA . - Dreds

in “’”’"Ww m.—aé . V‘Malfa.w Total mark awarded =
36 out of 40

|

How the candidate could improve their answer

e (a) There is some lack of clarity at the beginning of the answer. It would have been a good idea for the candidate
to start with a clear statement similar to the one in the final paragraph. This would have made it clear from the
beginning that they were comparing the overall messages of the two sources.

¢ (b) This answer would have been improved by a clearer and better supported comparison of the messages of the
cartoon. The candidate’s attempt to compare the points of view of the cartoonists would have worked if Source C
had been read correctly — that it is praising the fact that Britain is not afraid to spend large amounts of money to
defend itself and its people, and if the explanation of Source D had been clearer.

* (c) This was an excellent answer and directly addressed the issue of why the report was produced at that time. It
had a valid purpose as well as relevant context. The answer could have got to the crucial part about purpose much
earlier.

* (d) Agood answer, but it could have been more concise and direct. The detail on the first page of the answer was
not necessary; the candidate could have just explained and supported the fact that the sources show different
attitudes from the Kaiser. The move to use evaluation to show that Source F does not necessarily make G
surprising could have been made more prominent.

¢ (e) This candidate did three crucial things to achieve an excellent answer: (i) made it clear whether they are writing
about Britain or Germany being to blame, (ii) chose relevant quotations that were exactly right, and (iii) explained
how the sources suggest Britain or Germany was more to blame.

13
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Example Candidate Response — middle Examiner comments

aasy - atested o _foudld. - e dreodnaug)
A0S £ mnase...SeTmaiy. ..nad . AR «rFAoJM
L andestand | Laoe . Rrdkadia W&d T&'@(@Q

A pico (worsten e )cam@u)

| % —The _ 0o SOUNOS aQfee on some ~Hhings
Lauch _as. 4ot Beteda . qas he sles

-Addifonallsy -, -=hesy-also  soth _monkdon
| ot 0 @asor. e wohich  Bagh

AR o

\— -ehQ (maon o\m% KGISRC. oxaked 4. D\x\\d
0@&5\5 WOSkeCasase._he _gooated.

c\\sq%mcz%mn—h—thseemme i e@&%s

e Ao i, wads k. oldlag e bioy
poweskiloongy. Anoroc  disegreamon:. ..

Slouildiag, -

ek RBarala s theeoks. and. 80 40 @SS

s andmadv\gu%\q\s lercomise
Chom. . while.._ia OO = kIS
nany.. -the Lok oae ux:w\hocb O

___,u,_tf\C‘Xeo\se_ ﬂ@\%\@/@ - OACh O ’%cu-ou&\
lend. .
1 dv(&ouﬁ V\@u@h bs

@m, = sour@ A c&.\‘d . GLC&QE’_Q\

@&ch& e reux\d “:&mm o

cxtéeos

OO SOMY .. cCOMMOA.. QOMAES .. IS0 dt&%m ,,,,,,,,,,,,,,,,,,,

0 The candidate demonstrates
a clear agreement between the
two sources — that Britain ruled the
seas. This places the answer in
Level 2.

e The candidate shows a
disagreement between the sources
over why Germany wanted a
powerful navy, with support from
the sources. Source A says it was
because Germany wanted Britain
as a friend, while Source B claims
that the Kaiser wanted to make
Germany a world power. The
candidate now has an agreement
and a disagreement and reaches
Level 3.

e This is another attempt at a
disagreement, but it does not work
—in Source B the German decision
to build two dreadnoughts a year is
in response to Britain building the
first one.

Mark for (a) = 5 out of 7

14
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Example Candidate Response — middle, continued Examiner comments

Syt >

Lo Caan =0

e queke  tas o w% as. ! conhm)&o

Jte csle e uoanes

s He  mossoge ok TDRGAA QN
......... oonked Fee  —tes i lakele.. .
\(}Q@og(oa ?k? N, Was .
nmad(@( —G?Meo& _fo Brame On o

| COrtoon . 0R..SON . BRE O NG, PO,

oo .
1 On_ @ Sbumq ‘D R Can_OASO_S00

i S ol Ccest o (Dt of_MMenay,; c0d
JBatizh cespends  elifns Mo de Ao ok

la BmR&sh. mMoan. %J\o&d\ nay &

| possessinat_uialet. sads g same
’WL@SOZ%Q LAS e p(@,wm QASIOON, 0D
Ishow Relaia . cuaated 1 - Modakala ‘Hs,

/ﬁ& pm’p@? ja Fac)r Q:P b@&h e&c?@@ns
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o The candidate interprets
Source C — Britain wants to
maintain its control of the seas
despite the cost involved. The
answer is at Level 3.

o The candidate gives a clear
and valid comparison of the two
sources. They argue that the
message of both sources is that
Britain wants to keep its control of
the seas. This places the answer in
Level 4.

Mark for (b) = 6 out of 8
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued
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Examiner comments

6 The early part of the answer
provides some very general context
and uses it to explain why the
Conference took place, rather than
why the report was published.

0 This part of the answer does
not refer to the report. It does
mention the German desire to
threaten Britain’s aim to reduce
armaments, but this needs to
connect to the publication of the
report.

Mark for (c) = 2 out of 8

0 This is a rather uncertain
explanation of Source F, concluding
that the Kaiser wanted to expand
the German fleet.
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Example Candidate Response — middle, continued Examiner comments
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0 The candidate explains that,
according to Source G, Germany
wants to be on good terms with
Britain.

@ The candidate attempts to

find agreement between the two
sources — that the German fleet was
not built against anyone. This is not
very convincing and the candidate
does not address the issue of
‘surprise’.

m The candidate explains the

different attitudes of the Kaiser and
the issue of surprise is addressed.
This moves the answer to Level 4.

Mark for (d) = 4 out of 8
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Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued
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Examiner comments

@ The candidate makes clear
which sources they will use for
arguing that Britain was to blame.

@ The candidate demonstrates

a good use of quotations and
explanation to show how Source A
suggests Britain was to blame. The
answer reaches Level 3.

For Sources C and D, the
candidate needs to provide more
detail — the quotations are too short
and more explanation is required.
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Example Candidate Response — middle, continued

Example Candidate Responses — Paper 2

Examiner comments
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@ The candidate switches to
sources that suggest Germany was
to blame.

@ The candidate gives a
reasonable explanation of Source
B. The answer reaches Level 4.

m The candidate gives an
inadequate explanation for Source
E. There is no explanation of the
significance of the Conference.

@ The explanation of Source F
is weak. Overall, the candidate
explains one source on each side
meaning the answer reaches the
bottom of Level 4.

Mark for (e) = 6 out of 9

Total mark awarded =
23 out of 40
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How the candidate could improve their answer

(a) The candidate could have read each source as a whole and thought about their overall messages or points of
view. How far do the two sources agree or disagree in their big messages?

(b) The answer would have been improved by a more definite and sustained attempt to consider and compare the
points of views of the two cartoonists. The first cartoonist approves of Britain building more ships, but the cartoonist
of Source D does not.

(c) The candidate needed to focus on giving reasons for the publication of the report. The report needed to stay
at the centre of the answer. Inferences needed to be made from the report about its sub-messages and main
message — the Conference has failed and it is the fault of Germany. The candidate needed to make clear that the
report was published to spread these messages.

(d) If the candidate had explained an agreement properly and used it to address the issue of surprise, they would
have reached Level 5, by having different and similar attitudes.

(e) The candidate attempted to use a range of sources but has only used two of them adequately. To improve the
answer, fuller explanations were required about how the sources support or do not support the hypothesis. The
way the candidate has used Source A is a good example of how this could be done.
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Example Candidate Response —

low
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Example Candidate Responses — Paper 2

Examiner comments

a The candidate writes about
Source A. There is no mention of
Source B.

e There is an unsuccessful
attempt to compare the two
sources.

Here is a more direct attempt
to compare the sources. The
candidate claims that both sources
blame Britain. This does not work
with Source B.

Mark for (a) = 1 out of 7
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Example Candidate Response — low, continued
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Examiner comments

0 The candidate gives a good
interpretation of Source C and sums
this up well in the final couple of
lines of this paragraph. Level 3.

e The candidate interprets
Source D as showing the power of
Britain over the oceans. The answer
is still in Level 3, as there is no
comparison.

e The candidate successfully
compares the sources — they both
suggest that Britain wants to keep
its name as the ruler of the ocean.
The reference to Germany is not
helpful, but the answer is accepted.

Mark for (b) = 6 out of 8
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low, continued
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Example Candidate Responses — Paper 2

Examiner comments

0 This first paragraph
demonstrates little understanding
of Source E. It contains parts of the
source that are simply repeated or
paraphrased.

e The answer begins to wander
away from the source and the
candidate writes about the First
World War, although no one knew
then that this was going to start

in 1914. The reason given for the
report being made is invalid.

0 The references to events in the
First World War lack relevance.

@ The candidate claims that the
report was sent then because the
First World War did take place.
The answer is in Level 2 because
the issue of why the report was
published then is never properly
addressed.

Mark for (c) = 2 out of 8
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Example Candidate Response — low, continued
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Examiner comments

0 The candidate explains the
Kaiser’s attitudes in Source F.

@ The candidate explains how
the Kaiser’s attitude in Source G is
surprising because it is different —
much more peaceful. The answer is
in Level 4.

@ There is an attempt to explain
why there was a change in attitude,
but this is too vague to be credited.

Mark for (d) = 4 out of 8
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Example Candidate Responses — Paper 2

Examiner comments

m The candidate gives a
reasonable explanation of how
Source A suggests that Britain was
to blame. The answer is in Level 3.
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Example Candidate Response —

low, continued
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Examiner comments

@ The candidate tries to use
Source B, but this lacks a clear
argument.

@ The explanation of Source
C is only just good enough, but
the attempt at using Source D
is inadequate. This means the
candidate explains two sources that
suggest Britain was to blame. The
answer remains in Level 3.

m The comments about Sources
E, F and G are much too vague

to move the answer up the mark
scheme.

Mark for (e) = 4 out of 9

Total mark awarded =

17 out of 40
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How the candidate could improve their answer

(a) This answer contained several attempts at comparison, but none of them were valid. The candidate could have
looked for more straightforward agreements, such as Tirpitz being in charge of the German navy and Britain ruling
the waves.

(b) The candidate needed give more attention to the points of view of the cartoonists. They both show Britain was
determined to stay in charge of the oceans, but do they approve of this?

(c) To reach the next level in the mark scheme, the candidate needed to either explain the context of the time as a
reason for publishing the report or to explain a sub-message of the report that goes further than paraphrasing and
involves an inference, for example, Germany was not in favour of disarmament.

(d) To reach the next level in the mark scheme, the candidate needed a more detailed explanation of the
differences between the two sources. Additionally, the candidate could have explained that both sources do
suggest the Kaiser did want to get along with Britain and that the German fleet was not necessarily a threat to
Britain.

(e) This answer could have been improved by better use of the sources, especially those that suggested Germany
was to blame. The candidate needed to explain the sources properly, for example: ‘Source E suggests that
Germany was to blame for the naval race because it shows how Germany made sure there were no agreements
about disarmament at the Hague Conference. Germany’s actions encouraged countries to do more to prepare for

’

war.
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Question 2

Example Candidate Response — high Examiner comments
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a The candidate immediately
identifies a valid agreement —
that the plan was covered in the
newspapers. This places the
answer in Level 2.

e The candidate explains a
valid disagreement — the sources
disagree over the effectiveness of
the air raid. The answer reaches
Level 3.

e The candidate correctly states
the disagreement over the number
of invaders killed — 67 in Source B
and over a hundred in Source A.
This moves the answer to the top of
Level 3.

Mark for (a) = 6 out of 7

o The candidate gets to the

main point quickly by stating the
point of view of the cartoonist —

the message of the cartoon is to
criticise ‘Cuban Communism’. There
is some support and the answer is
in Level 5.

e The candidate reinforces the
point, explaining that the cartoon is
praising the invasion ‘as an effort to
set Cuba free from Communism’.

e The candidate supports the
claim that the cartoon is criticising
Castro and communism by the
relevant use of details in the
cartoon, for example, liberty being
locked up, signifying the lack of
freedom for people in Cuba. This
support confirms that the answer
belongs in the top level of the mark
scheme.

Mark for (b) = 8 out of 8
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Example Candidate Response — high, continued
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Example Candidate Responses — Paper 2

Examiner comments

0 The candidate clearly states
the different views over who was to
blame, but this is not yet supported.

e These attempts to provide
support do not work because of the
use of Source E. The candidate
refers to the parts of Source E
about how the investigation was
carried out, but not about the events
of the invasion.

9 The candidate explains some
valid doubts about how far Source
D can be trusted. This places the
answer in Level 3.

@ The candidate uses the key
sentence in Source E (the failure
was caused by the actions and
inactions of Kennedy) to show that
Source D is wrong. This raises the
answer to Level 4. However, as

the answer already provides some
evaluation of the sources, Level 5 is
awarded.

Mark for (c) = 7 out of 8

m The candidate makes the
crucial points that Kennedy

is distancing the US from the
invasion and that it was purely a
Cuban affair. This is followed by
an explanation — that Kennedy
was trying to avoid an escalation
that could draw the USSR into the
conflict. Another valid explanation
could be that he did not want to be
identified with what was a disaster.
Level 5 is achieved.

@ The candidate gives a reason
for the speech, ‘This is done likely
to...".
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Example Candidate Response — high, continued Examiner comments

| Howewn, —dlesi Le_i&.__mmdmu_cd_adm'{hwa_am&_ncle,.-ow_iﬁa.__l nuasbv_l,_.[genmdg__'la&es {La__'
_oﬁm‘uﬂ,\l‘x qf—_¥u~m‘kxa>¢_.&mmumcam_,_saﬁ tng Mo _Jigfut_ogoinst ik 45_um.__r§_®—
_&Bmkt&..a%cm«s‘ LAQ 4 == S A Wk_i_&_w_wm&_&m{mu,w
.:ep,lep..__-_mumlmcs...doJﬂu:nL.&ﬂ__b_“y;:l[aui,s,:,_(eu,__a!@m_.(&’w&ig%_,-aﬂd_(Qemmo@i.._asa?&c_,m__
._A{ﬂcﬁ.dw%&s_‘_c}__i'&lm_mm.ﬂwd_wMub_,{m{&m_jksaskmd_ndasmb_&mmtsm«_f

Prisicleat__Ke el ano_‘fann__igafa_a.s_.an._cpPanfmnl-ﬁ_ o-_s?gu,‘;-su@ﬂ%_a&ou}-_{;&g_&\'w_

— | —Comimanisk stk nck S uacterest s Keonesly atee dulen s 08_ta
. \:g fowiky do sy e fogluk b nct owit., ok Comimirioni_glel_viah_totn.- -seiging A6

B - ch_.ﬂ_&.*wd_&e_u __"fma»tm_{%nm_*, _a._mimwu.._{-o_us_*cankmnm&
__...oﬂonis_ opuned o ecoortol

aedellydokbuses 9 {eu.mPco(pe-,_._'tns\gad_ai_aubvw_adm-’Hm?_,éss,._&_odmﬂ:s;f&b___

Lont 7.

] 4_6\)‘141 __Sowrees__C... McL.-E—.O’D—'\ﬂ{—P'kA'A_*CL_:an%U]
] -sau/u&_B,M_E_p»k_aﬂ_dﬁb_%mc_%/&_,jaim&a%dm# Kem‘la%_.and s

faniais bt

— &_mrda_i&aw,wﬂ& B
_;..sp»_&a._so‘ahcc;&_M_WmJ§M~d&M;,W;¥ON\ seling_ain.
-onkeel fo_clo_ss Gyt CIA. Soce B _cloims. e L6 koot _oithout . aimmedsty. .|
— seconrl_ain..adxl.,.

bz amee_4 * clied_wck fen. " Lo

Botle_sounces_ Fon//)ag_ému dg_as_a._mm_wﬁo.m_nm__cowmd_wﬂéu.

frcrce _chin

i

*eu._#;iwq:MW_M&L,{&{TM_%_&;M_QM_&MM%TMML_

s, “{La‘l/d‘ attnadted o

{-Costno_ el -Commutisamotisen.Conlier..This.2Blecs 6> ogoin_Lbacked Bay towtce: E,pn th -
— _..Keylvuda& ek _nek. ook 4 'foq,._{&:. .Jnoap;.:{o._-éb__accaunh_d {om.jﬂu—_i’wo souscen_pia. | .
LK *&. ,e&zm_anCmmd;A ,fm_‘&-u_‘mwn_oﬂqmsokim_as_w&_Wa‘sbn*amd_%mb e pricte___|
__/!M_&ew._cmu%l- o».\_.%,_ e _cruciol cun zsuppant

_&.;ialm_c}_&.-m_amd_%ﬁ.m&pd_q.om:&nowf g

lech_to_win_$0u_Limosto

g nfmc&_if__‘&{m._._&mre_.ﬁ_alsa‘o@dcm_w

@ By itself, this paragraph
would reach Level 3 as it explains
perfectly valid reasons why
Kennedy was making the speech.

@ The candidate reinforces the
point about Kennedy wanting to
distance himself from the invasion.

Mark for (d) = 7 out of 8

@ The candidate uses Source

E to support the hypothesis that
Kennedy was to blame. The
reference to his ‘lack of action’
directly relates to what Source E
claims. It is a weak use of Source E.

@ The candidate uses Source

B much more satisfactorily. They
explain that Kennedy refused to
authorise the second air raid and
that, without this, the invasion was
doomed to failure. The answer
reaches a secure Level 3.

30




Example Candidate Response — high, continued
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Example Candidate Responses — Paper 2

Examiner comments

m The candidate explains how
Source A places the blame on the
CIA because of its choice of landing
point and the use of obsolete
bombers. The answer moves into
Level 4 because the candidate
explains some support for the
hypothesis and some evidence
against it.

@ Source D is chosen for blaming
the CIA for its poor planning and
lack of proper management and
staffing. The use of the source
could be better, but the candidate’s
use of the terms do match up with
those in Source D.

@ The candidate evaluates
Source D and some doubt is cast
over its use as evidence against
the CIA. The earlier use of Sources
A, B, D and E could have been
much better and a mark of 6 was
considered. However, this valid
evaluation of Source D leads to a
mark of 7 being given.

Mark for (e) = 7 out of 9

Total mark awarded =
35 out of 40
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How the candidate could improve their answer

(a) To reach the top level of the mark scheme, the candidate needed to go beyond the details in the sources and
explain their overall messages. On the whole, Source A blames the CIA for the disaster of the invasion, while
Source B blames Kennedy. The candidate needed to make clear that these were the overall messages of the
sources and not just more disagreements of detail. This comparison should have been supported by evidence from
the sources.

(b) There is little about this answer that could have been improved, but it is worth noting its strengths. The
candidate did not lose time describing the cartoon but moved to the point of view of the cartoonist in the first
sentence. This point of view was supported by references to details in the cartoon in the second paragraph of the
answer.

(c) This answer rather stumbled its way to Levels 4 and 5. It could have been much clearer and more carefully
organised. For example, the candidate might have first explained the disagreement over who was to blame
between the two sources, using key and relevant parts of the sources. This then might have moved on to reasons
why either Source D or Source E was problematic, such as Kennedy being a member of the Committee or Source
E being produced by the CIA. This would have then reached a conclusion about whether or not Source E proves
that Taylor’s findings were wrong.

(d) To reach the top level in the mark scheme, the candidate needed to consider the importance of Kennedy giving
this speech to a group of newspaper editors. This showed how important he felt it was to respond to events in
Cuba. He was keen to get his version of events across and clearly hoped that it would reach a large audience
through the newspapers.

(e) To obtain a higher mark in Level 4, the candidate needed to use the sources more effectively. Some of the
explanations of how the sources did and did not support the hypothesis are weak. For example, the following would
have been a more satisfactory use of Source E: ‘Source E does blame Kennedy for the failure. It says that the
major causes of the failure were the actions and inactions of the Kennedy Administration, including the President’.
A higher mark could also have been achieved by using a wider range of sources.
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Example Candidate Response — middle Examiner comments
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0 The candidate begins well,
by explaining how both sources
state that the invasion was not
kept secret and was reported in
the newspapers. This places the
answer in Level 2.

e The candidate identifies
another agreement, about the
number of invaders and numbers
killed. This agreement places the
answer higher in Level 2.

e The candidate attempts to
explain a disagreement, but it does
not work. The candidate claims
that Source A does not mention
something about Kennedy that
Source B does and adds that
Source A is objective. There are
two problems with this: this is not a
proper comparison and Source A is
no more objective than Source B.

Mark for (a) = 3 out of 8

33




Example Candidate Responses — Paper 2

Example Candidate Response — middle, continued Examiner comments
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(pinkings)

o The answer focuses on the
message of the cartoon. It states
that the message is that the
invasion was a failure. This is valid.
The cartoon was published on 21
April and by that date it was clear
that the invasion was going badly
wrong.

6 The candidate supports this
message by using details in the
cartoon — that the bolt of lightning
labelled ‘Invasion Effort’ misses the
Cuban fortress. This is a perfectly
plausible use of the details in the
cartoon. The answer reaches
Level 3.

G The answer begins to drift
away from the source, but the final
sentence of the answer makes a
good point about public outrage
leading to the portrayal of the
invasion as a failure.

Mark for (b) = 3 out of 8

a The answer avoids the issue of
how the two sources disagree.

e The candidate explains how
there are doubts over Source D
because Kennedy was on the
Committee and because Source
E claims that Kennedy was more
interested in his image than with
conducting the investigation
properly. This part of the answer
reaches Level 3.

Mark for (c) = 3 out of 7
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Example Candidate Response — middle, continued Examiner comments
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JCouR Mark for (d) = 7 out of 8
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Example Candidate Response — middle, continued
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Examiner comments

m There is a vague reference to
Source A containing ‘details’ that
suggest it was Kennedy’s fault,
but no evidence from the source is
given.

@ The candidate gives a relevant
quotation from Source B that
suggests Kennedy was to blame.
However, it needs to be explained
much better. The answer is at the
lower end of Level 3.

@ The candidate provides no
evidence from the cartoon to
support the claims being made.

@ The candidate correctly states
that Source D claims that the CIA
was to blame but gives no evidence
from the source to support this
claim.
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Example Candidate Response — middle, continued Examiner comments
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How the candidate could improve their answer

(a) The answer could have been improved if the candidate had explained a valid disagreement. There are several
that the candidate could have used, for example Source A says the air strike was not effective, but Source B says
it was, and in Source A the second airstrike was cancelled to hide US involvement, while in Source B, it did not
happen because Kennedy claimed he had not been told about it.

(b) This answer could have been better if the candidate had considered a wider range of messages. For example,
the cartoon suggested that Castro was a threat to liberty and that the Cuban people had no freedom. It also
suggested that the Soviets were helping to defend Castro’s regime. The explanation of more than one message
would have led to a higher mark in Level 3. The big message of the cartoon was also missed — that the Cuban
people will continue to fight for their freedom despite the failure of the invasion. This would have placed the answer
in Level 4.

(c) The candidate needed to explain other ways in which there were problems with either or both Source D and
Source E, such as the promotion of Maxwell. To reach Level 4, the candidate needed to explain and support the
disagreement between the sources over who was to blame for the disaster. This move is side-stepped in this
answer.

(d) At the end of the answer, the candidate made the point that Kennedy was hoping to ‘shape the narrative’. This
could have been linked to the fact that the speech was being made to newspaper editors. This would have moved
the answer into the top level of the mark scheme.

(e) The candidate referred to a range of sources and made claims about them. However, with the exception of
Source B, no evidence was provided from the sources to support the points being made. The candidate needed
to identify evidence from sources and then explain how this evidence supported or did not support the view

that Kennedy was to blame, for example: ‘Source B tells us that Kennedy was to blame because it states that
he cancelled the second air raid. The source goes on to say that the CIA knew that without this air support the
invasion would fail’.
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Example Candidate Responses — Paper 2

Examiner comments

0 The candidate attempts to
identify an agreement by giving
two quotations from the sources.
This does not work because the
quotations do not agree with each
other. This attempt is not helped
by the fact that the quotations are
not given in full and the truncated
versions struggle to make sense.

e The attempts at comparing
numbers are either not valid
comparisons or incorrect.

e The fact that two of the
invaders’ ships were sunk is a valid
agreement and places the answer
at the bottom of Level 2.

Mark for (a) = 2 out of 8
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Example Candidate Responses — Paper 2

low, continued
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Examiner comments

e The answer begins with the
description of the cartoon which
reaches Level 1 of the mark
scheme.

e The candidate attempts to
interpret the cartoon but mistakes
are made, for example, the claim
that the cartoon is indicating that
Cuban people did not mind Castro’s
rule and the identification of Soviet
tankers. The answer reaches

Level 2.

G The candidate gives a more
valid message here — that the
invasion was ‘a disaster’. The
sentences that precede this claim
provide some basic support. The
answer just gets into Level 3.

Mark for (b) = 3 out of 8
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Example Candidate Responses — Paper 2

Examiner comments

0 These truncated quotations are
not useful in this answer. In the form
they are presented here, they do
not provide support for any points
that might be being made.

e The attempt at explaining how
the sources disagree does not
produce any valid explanation. The
candidate identifies odd pieces of
evidence but these are not used in
any useful way.

0 A valid and useful statement is
made here, but it is not used in any
meaningful way. This part of the
answer is in Level 2.

Mark for (c) = 2 out of 7
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Example Candidate Response —

low, continued
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Examiner comments

@ There is a misunderstanding
of the statement in the speech
about the US not using armed
forces. The candidate appears to
think that an agreement has been
reached between the US and the
USSR. There appears to be some
confusion with the Cuban Missile
Crisis.

m The candidate attempts to link
the statement in the speech about

not underestimating the threat from
communism to the Korean War.

@ This claim that the struggle
was part of Kennedy’s plan goes
against Kennedy’s purpose in

this speech, which is to persuade
his audience that the US was not
involved and that the struggle was
purely between the Cuban exiles
and Castro.

Mark for (d) = 1 out of 8

@ The candidate gives some
assertions about who was to blame,
but there is no evidence from the
sources to support them. There

is some basic source use which
means the answer reaches Level 2.

Mark for (e) = 2 out of 9

Total mark awarded =
10 out of 40
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How the candidate could improve their answer

(a) The answer would have been improved by the use of quotations in full and by making clear and direct
comparisons. The candidate attempted several comparisons, but only one worked because the others were
unclear, not direct enough and not quite correct. For example, the attempt over air support would have worked
properly if the answer had said that without air support the invaders were struggling.

(b) This answer would have been improved by avoiding all description of the cartoon. The candidate needed to
spend some time carefully thinking about the cartoon and its message. What points is the cartoonist trying to
make? How does the fact that the cartoon is American possibly affect its likely messages? Misinterpretations such
as the ones given should have been avoided. It is clear an American cartoon would not have been saying that the
Cuban people did not mind being ruled by Castro. A basic valid message does appear at the end of the answer.
The answer should have started with this message.

(c) The candidate understood that Source D and Source E disagreed about who was to blame for the failure of the
Bay of Pigs. However, there needed to be a clear explanation of the problematic nature of either of the sources and
a clear explanation of how the sources disagree. The use of truncated quotations and a lack of clear explanation
meant that neither of these two elements were present in the answer.

(d) The candidate attempted to explain several parts of the speech but has misunderstood Kennedy’s message.
The candidate could have explained that Kennedy was giving this speech to emphasise the seriousness of the
threat from communism and how it endangered freedom and liberty. Alternatively, the context of the speech could
have been given as the reason for the speech — it was made at the time when things were going badly wrong for
the invaders. Either of these approaches would have reached Level 3 of the mark scheme.

(e) The content of the sources needed to be used to support the assertions. For example, the claim made about

Source D could have been supported by explaining that the source says that the fundamental cause of the disaster
was the CIA’s failure to provide the necessary organisation and leadership.

Common mistakes and guidance for candidates

Candidates often appeared to have started writing their answers before they knew what the answers were going to
be. Candidates would benefit by using some of the time to think carefully about each question and the sources and
to plan their answers. This would lead to more coherent and relevant answers.

It was important for candidates to directly answer the question. Some candidates wrote about the sources or the
historical events without directly addressing the question. It would help candidates if they addressed the question
in the first sentence of their answer, for example: “‘The message of this source is ...", ‘Source E does prove that
Source D is wrong because...’. To do this, candidates needed to have planned their answer before they began
writing.

Candidates sometimes used truncated versions of quotations from the sources. These versions often did not make
sense and did not properly support the point that the candidates intended to make.

In comparison questions, some candidates summarised each source in turn instead of making a point-by-point
comparison. It would benefit candidates to go through the sources and identify agreements and disagreements
before starting to write their answer.

The best answers to comparison questions were those based on a reading of the sources as a whole and where
there was an attempt to work out the overall message of each source. These answers were also fully supported
from the sources.

When asked to explain the message of a source, it was important for candidates to avoid just describing or
paraphrasing the source. It was also important for candidates to support the message with evidence from the
source.

The provenance of sources was provided for candidates to use. It can help in attempts to interpret a source and
work out its possible purpose.

When asked about the message of a source it was important for candidates to work out the point of view of the
artist or author. This was particularly important when using cartoons.

Some of the questions required sources to be evaluated. Candidates needed to work out which questions these
were. For example, questions asking whether one source proved another source to be wrong or whether a source
was surprising, required the sources to be evaluated. When evaluating a source, it is always useful to use the
provenance of the source, the content of the source and the historical context.

The final question on the paper was about the sources, rather than the events themselves. This means that
candidates’ answers should have been based on the sources. It was important for candidates to carefully explain
how a source did or did not support the hypothesis, rather than to make assertions.
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